2012 O-HOF HER—ILIIL—LAVABREIMLT—TIL F@2454H158(H)

No. [#1THR| SOk | vo 3> | wkdER | HigH | e—+ | 7v7 [FRrERM
8:40 PEES
9:15 EF2{FEE(~10:00)
9:30 BEBB(C1=7-217F4)) 0:25
9:55 BERE (FIA=7) 0:15
10:10 ERXEE S - HEHBEB(FYE-G-H-120) 0:15
10:25 ETESE -BEREKRT 0:35
10:50 fiexX [(BHISEE. EFAG EFEEZ FESIERHA. FEFES)| 010
1 11:.00 | #ERE [Pa2TdFAILS WQ 4 1 4 0:04
2 11:04 ERE =TFL CR 2 1 2 0:04
3 11:08 ERE 2a1=FS WTQ 7 1 6 0:06
4 | 1114 | ERE 7 YEfRL CR 3 1 3 0:04
5 | 11:18 Az 0:04
6 11:22 R | CaTFA4ILS WQ 4 1 JI[E {2 0:05
7 11:27 RBE ZFL CR 2 1 I 52 0:05
8 11:32 BB 2a1=7FS WTQ 6 1 I 5z 0:06
9 11:38 BB 7 <EFRL CR 3 1 JIE {3z 0:05
10 [ 11:43 B RABA Ls 0:27
11| 12:10 | R [PaTFAIL [ 5 1 5 0:04
12 | 12:14 ERE —7FS TF 8 1 6 0:04
13| 12:18 RIS 7 3G#kS WT 6 1 6 0:04
14 | 12:22 RIS 120S W T 3 1 3 0:04
15 | 12:26 LR Ta=TFL CSR 7 1 6 0:06
16 | 12:32 AR 7 RE#&S WT 7 1 6 0:04
17 | 12:36 LR 7IAHS [ WTFQ 4 1 4 0:08
18 | 12:44 L E=— 0:11
19 [ 1255 R | DaTdFAILL CS 5 1 JIE 5z 0:05
20 [ 13:00 R B T=FS TF 6 1 B 15z 0:05
21 | 13:05 R B 7GRS WT 6 1 JIE 5z 0:05
22 | 13:10 RBE 120S WT 3 1 JIE 45z 0:05
23] 13:15 R B Ta1=TFL CSR 6 1 JIE 5z 0:06
24 | 13:21 R B 7 YE#&S WT 6 1 JIE 5z 0:05
25 | 13:26 SRR 7IAES [WTFQvV 4 1 g 5% 0:08
26 | 13:34 B RABA Is 0:16
27 | 13:50 R | F—LwyvF | WTR | 4 3 | 4 0:10
28 | 14:00 i 0:05
29 | 14:05 R | F—LxyvF | WTR [ 4 3 | IEfE 0:10
30 [ 14:15 =& 0:30
32 | 1445 EERIRT

AR A—=\)L
BOZRN—= NS
BUOREBA L
DILINKE

AR Y IT R TEVAN— 3y
AR XKiE-XKE HHME

14:45

15:05
15:20

15:50

E3E




